STATE LEVEL NTSE -01 DEC. 2013 CHHATTISGARH

MODEL ANSWER

PAPER -1 (MAT & LANGUAGE — Hindi / English)
Section - |
MAT  (Question no. 1 to 50, Total Questions 3 50
U B. 1 2 3 4 5 6 7 8 9 10
IR P | C A B C D C | vewe | B D C
U B. 11 12 13 14 15 16 17 18 19 20
SR P D D B C B C D B B C
U B. 21 22 23 24 25 26 27 28 29 3(
SEASCZ C B B A C B B B D D
U B. 31 32 33 34 35 36 37 38 39 40
SR P D B C A C A C B D B
U3 B, 41 42 43 44 45 46 47 48 49 50
IR P C B D A C A C B D C
Section —| |
HINDI (Question no. 51 to 90, Total Questions F 40
U B. 51 52 53 54 55 56 57 58 59 60
SN b D D D B B D D A C
U B. 61 62 63 64 65 66 67 68 69 70
IR P B C D B C A C B D C
YR B, 71 72 73 74 75 76 144 78 79 8(
SEASCZ C B A A C B A D B
U &. 81 82 83 84 85 86 87 88 89 90
YR b D B A D A D B C C D
ENGLISH (Question no. 51 to 90, Total Questions F 40
U B. 51 52 53 54 55 56 57 58 59 60
SEASCZ C A B D B D C A B
U B. 61 62 63 64 65 66 67 68 69 70
SEASCZ B D C B D A B C C D
YR P, 71 72 73 74 75 76 144 78 79 8(
YR b B A B A C D B B A
U B. 81 82 83 84 85 86 87 88 89 90
SIS C A C B D C B C B C
NEIGED
X1y Sfared Srg<er Ud Uil aRvg

BTG



STATE LEVEL NTSE - 01 DEC. 2013 CHHATTISGARH
MODEL ANSWER
PAPER — | MAT (Section — 1)

q;:r SR © U | a@
1 fferar < 7Y < fA@m = F91 < gt < Wifd
2 THIAT < N1 < g < AT < Ay
2 6%3=(6x3x2)2=238, 57 =(5x7x 2} 2=72,
123 5= (12 x5% 2}t 2 = 122, ¥4 = (7 x4%x 2)+ 2 =58
«—5
4 1= 2
2 «— 3
5
6 5x6x4 =12, 6 X7x5= 21, 4 x8x 1G6= 32
10 10 10
. TEN BN @ 3faR FCaY 124 b WM WR 144 BY TAT| EUT JfS & BROT |1
QRIS & U & 01 37 |
8 S5X6%X 8+ 7%x4x 9 =492, 7 x5x4 6x8x 9 =572, 4x3x5 7x2x5 =130
9 23 +13+33=36, 03%+43+33=91, 43+ 23+13=73
10 112 — 12 =120, 7% 22 =45, 52- 32 =16
oflel
77 7
e/ /
11 Bl -, / —TeAT
/
Tl ‘
12
13
14
15
3 _ = 3 =
16 33 -3 =24, 838 =504
17 a b c a b c¢c d e f
1 2 3 (3+1)2 =16, 1 23 4 5 6 (6+1)2 =49




NW N NE

B W E
1357
18
S
19| B
20| C
21| C |fQwr, 3ad wd gad 80 =22 +3 =25
22 | B | <9, 3mgd, S vd g g =8
23| B |3 -3, 43-4, 53-5 6%-6, (73-7)=336
oa | A vy W = 2,3,5,7,11, 13,17, 19, 23, 29, 31, 37
Jug AT+ 1= 3, 4,6, 8,12, 14, 18, 20, 24, 30,32
2+1 = 3+1 =4+1 +1=6+1=7
25| C |2+1=3+1=4+1 +1=6+1=7
541 =6+1=7+1 +1=9+1=10
3 3
TN N
B E H
g 3 3
> K N Q
26 | B g 3 3
SN2 NN
_ T W VA
g 3 3
L N\_
C F |
First Place 2, 7, 14, 23, 34, 47
27| B 5 7, 9, 11, 13
Second Place Z, Y, X, W, V, U
Third Place 5,7, 9, 11, 13, 15
It be pee= roses are blue (1) Sik _hee= red flowers (2)
o8| B Pee mit hee= flowers are vegetables (3)
From1land 3 pee = are, From 2 and 3 Hhdower,
Sik = red, Vegetables = mit, So redsik
29 rosesar a1 It & H&ar = a1 be
30 Vegetables are red flower = mit pee sike




31| D |geeel, sxaell, UR®DPIT &1 SUART G & oy Td WARRDIY BT SUANT FA+ & oy

2| B UHIgS, BRI, DI BT Fae BIed |, AN BT G Hrad A el |
31d: A e 37T T |

33| C |yA.uael, WrEl — fore H, DHodheley — TUET H

34| A B, 99 KA — do9 & Ty, I — BT SUANT I

35| C |3ma, v, Byol — fg faffm, o9 — =0 faft

36| A |9Tg B <R B, FARIA—AETT

37| C |98YS & 3fX A, AT & X q

38| B |Whol & <X BEll, Thol b 3fax O

39 | D |¥ZaR, Ui frerd & Addl 8, AR Sfaex & Addl 7 |

40 | B |¥IOM @ 3 Feoll, HIOF & IT=<d Bl

41| C |51, fmem, faare, gg, Sifq G¥R

42 | B |99, U, US, ddel, cdd

43 | D |H, Yford, SIS, e, 9ol

44 | A | NI, YT, TG, ADBRI, AT

A5 | C |9e9 & d9d &4 H d, el |9, @Y, wifeaq

U BHIP 46 H 50 B g —

HEAD = adeh, NOSE = hnor, GHOST = efngr, RONEI= hlongsx,

ENOUGH = efhnox, MASTER = dhpqrs

Sl & w0 =n, E=h, S=r, N=0, H=ze, A=d, @=T=q, G=f, U=x

46 | A
47| C
48| B
49 | D
50| C

BEIGED
RIS QHfeTeh AFHET Td UfRieror gRkug
BANTITS




